Full Size C.O. Kit — Double Deck Electric w/Inserts, SS

P/N 1951221

Packed

Part No

Description

1824901

Decking Schematic DP

1824902

Decking Schematic Std

1007000

Instruction Bag

1816501

Stacking Bracket

8003404

Hex Head Bolt, 1/4-20x3/4

8000203

Lock Washer, 1/4 in.

8001206

Hex Nut, 1/4-20

1920099

Flue Tube

8002108

Sheet Metal Screw, #10 Phillips 3/4in

1927195

Leg

8003415

Hex Head Bolt, 3/8-16x3/4

8000310

Flat Washer, 3/8 in

O0|0o|0|0o|0|O0|o|0o|o|o|0

1236100

Square Foot Insert

AESA-&ﬂO\O\O\»—*»—H»—g

Packed by:

1951221.doc




o0p’s3a yoeis

v

T~ . "SINU pUB SISYSEM ‘SMIIOS pedY XY % Juisn Ieal oY) 0 Jayorrq Sunyoels oy JeIsu] ‘9
Q *SI9UI0D dY) uSie pue jun 1amof y) jo doj uo jun toddn oyp yri ¢

N

e
‘Jy3uidn 31 uIng Jo J1un QY3 IOMOT  p
"SIaysem pue $3joq peay Xay . 8/¢ Jursn uaAo 3y 0} s3] oy} Yoeny ‘¢
"89] yoea ojur syrasut oy dey ApysSiy “rowwey e Suispy g
*9PIS 13 SIT UO UINJ IO USAO JOMO[ Y} asIey [
"0M] 3} JO IOMO[ 3} 9q JSAUT USAO MU ) ‘USAO P[0 UB PUB MdU & Juryoe)s J|
8IA1S PIO 9IAiS MeN
YOuIM B
i Apradoxd pausyy3n pue punodwiod peary Sursn pajquiasse are sSuniiy [[e dInsuf ‘7| ||||
"mou s3umy Juryoe)s sed ajquuasse ‘uone[[esul se3 © ST SIy T ‘11
"smards sdif[yq Sursn jun 1addn oy Jo rear sy 0) Jo3orIq SuruTeNSIT AY) [[RISU] O] |
*smaI0s SAI[IYJ Y)m I9A0D I8dl ® ®
S} 0] UDISE,] “JUIA UIAO S} 01 3qN) ISSII anyj Ay} USYy :udA0 19ddn UOISIOA TomaN
"UAO U} JO IBAI 3} 0} JOA0D JATIRIODIP 9} SUIP[OY SMAIDS OMm])
3y} UISn USAO S} JO T8I AU} O) dQN) IASLI AN[J Y} UAASE, :UaA0 Joddn UOISIoA IPIO 6
"smar10s sdIf[Iyq Om) (Im USISE “JUSA UIAO JIMO] AU} 0} AN} ISSHI AN[J oY) [[ISU] 'Y "UIAO UOISIOA IOMAU B 9ARY NOA
"OS[€ I9A0D JUSA I2INO S)I PIBISIP PUB SAOWI ‘UOISIIA JomaU I9A00 JATIRIOISP OU ST 213y} pue do) USAO JY) JO JBaI SN} SIIXA JUSA AU} J[ "USAO UOISISA
© ST U9A0 13ddn 9y} J] *PIROSIP PUB UIAO IOMO] Y} WOIJ I9A0D JUIA ISINO ) SAOWY  °/ I9PIO UE SI )1 ‘i pUNOIR ISA0D [39)S SSa[UIR)S 9AIRI0Nap € sey pue [oued doy sy ySnoxyy

SJIXQ JU9A 9Y3 J1 *do) USAO JY) JO T8I JYSII AY) J JIX JUSA USAO Y} 30adsur Afjensip
113 [00} [eroads oy yim paddiys syjoq Jueysisar radwe , v; Y1 Yim s)joq peay

X3y .4 feuriou Y} d0e[dar AI[I0R] [BUOIIORIIOD € U SIUN 983y} SUI[[RISUL S8 NOA JT :2JON *9ATIRJUASAIdAI SIfeS INOA JOBIUOD AINSUN Ik NOA J[ "9ALY noA
UJAO YOIy SUIULISISP URD UON0AdSUT [ensTA JoInb v *SUSAO UOISISA MU 3q [[IM 000 ‘bT

*193o8Iq STY) Yor)E 0} [HdY 198 paInjoRINULU SUIAO ‘A[[RISUSD) "USAO ODJA UOISIOA I9P[O SUO I UOISISA

1 2A0wds A[tresodwa) 03 9ARY AW O PI[EISUT IA0D JOBQ SATBIOOIP B SBY JIun 1YL J JoM3U JUO IO SUSAO QDA UOISISA Tomau om) Jo Suryoels oy o} K[dde suononnsur assy [,

SUIA() UOI}I3AUO0)) JIwwIng dguey S I J9)SBJ\ puBLIex)
suononajsuy sunpe)s



	
	

